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INDEFINITE INTEGRATION

Integration is the inverse process of differentiation. That
. & . P . . ) 3. ka(x)dx = kj f(x)dx , where k is any constant
is, the process of finding a function, whose differential

coefficient is known, is called integration. 4. If£(x),£,(x), f,(x), ... (finite in number) are functions
If the differential coefficient of F(x) is f (x), of x, then
ie. %[F(x)] = f(x),then we say that the antiderivative I i)+ £,()E f5(x)...]dx

or integral of f(x) is F(x), written as 'ff(x)dx =F(x), = jfl (x)dx + Ifz (x)dx £ IfZ(x)dx *..

. . . , _ 5. Iff f(x)dx =F(x)+c
Here Idx is the notation of integration f (x) is the

integrand, x is the variable of integration and dx denotes 1
then_[f(ax +b)dx =—F(axtb)+c

the integration with respect to x. Ta

1. INDEFINITE INTEGRAL 1.2 Standard Formulae of Integration

The following results are a direct consequence of the

. d
We know that lf& [Fx)]=/(x), then'[f (x)dx = F(x). definition of an integral.
Also, for any  arbitrary constant C, 1 Ix“dx - x™ +C.n#-1
) n+l '

d d
—I[F(x)+C]=—[F(x)]+ 0= f(x).
dx dx 1
2. _[—dleog|x|+C

X
= [ fdx =Fx)+C,
. “dx=e"+C
This shows that F(x) and F(x) + C are both integrals of the 3 I © ©
same function f(x). Thus, for different values of C, we obtain

different integrals of f(x). This implies that the integral of " j adx=—>__4C.
f(x) is not definite. By virtue of this property F(x) is called log. a
the indefinite integral of f(x).
- - X 5. Isinxdx=—cosx+C
1.1 Properties of Indefinite Integration
d 6. Icosxdx:sinx+C
1. — =
[ J1eodx]= 10
7. Iseczde=tanx+C

2 P00 [N = £+ 5. Joosectdx = —cotx+C
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9. _[secxtanxdx:sec x+C

10. ‘[cosecxcotxdx =—cosec x+C.

11. Itanxdx=—log|cosx|+C=log|secx|+C.
12. _[cotxdx =log|sinx |+C

13. Isecxdx=10g|secx+tanx|+c

14. _[cosecxdx =log|cosecx—cotx |+C

15 |

X .
= =sin'x+C;|x| <1
1-x

16. | dx

17. J.dix =sec™

xWx -1

2. METHODS OF INTEGRATION

2.1 Method of Substitution

[x|+C;|x|>1

By suitable substitution, the variable x inff(x)dx is

changed into another variable t so that the integrand f'(x)
is changed into F(t) which is some standard integral or
algebraic sum of standard integrals.

There is no general rule for finding a proper substitution
and the best guide in this matter is experience.

However, the following suggestions will prove useful.

(i)  Ifthe integrand is of the formf~ (ax + b), then we

1
putax+b=tand dx = —dt.
a

Thus, [ f(ax+b) dx = j f'(t)E
a

=lj'f’(t) =S O _S@40)
a a a

(i) When the integrand is of the form x*~' f "(x"), we
put x" =t and nx"~! dx = dt.

Thus, X" f/(x")dx =] f’(t)% _1L

[F@d=Srm=1f+e
n n

(iii)  When the integrand is of the form [ f(xX)]". /" (x), we
put/(x) =tand f "(x) dx = dt.

n+l n+1
e

‘(x)dx =| t"dt =
(x) j n+1l n+l

Thus, [[fCOT" f

(iv) When the integrand is of the form f(x ))

we put

f(x)=tand f"(x) dx = dt.

Thus,jj;(;x]) dx =j% =log | t |= log| f(x)| +c

2.1.1 Some Special Integrals

I jxzdfa2 =§t ) :+C

2 J.xzdfaz =21_a10g ;2 e

> Iaz(i—xxz =ilog 2-—”; e

4. j\/——sm —+C

5. Iﬁﬂogkﬁ x> +a’|+C
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=log|x +v/x* —a’[+C

dx
o o=

X
—+C
a

. J.\/az —x%dx =§\/az -x? +a—2251n‘1

2

8. I\/x2+a2 dx=§xsz+az+a7log|x+\/x2+a2 +C
2

9. _[\/x —a’dx = «}x —a —a—log‘x+ x*-a’|+C

2.1.2 Integrals of the Form

(@) If(az —xz)dx,
(b) J-f(a2+x2)dx
(c) '[f(xz —az)dx,

@ (e

Working Rule

Integral Substitution

x=asinBorx=acos 0

jf(az —XQ)dX,
[f(a®+x%)dx,

x=atanQorx=acotd

'[f(xz —aQ)dx,

X=asecHorx=acosec9

ff(a”)dx ot If(::)dx x = a.c0s 20

2.1.3 Integrals of the Form

dx

[—
®) Jax?+bx+c¢

(a) |

—5
ax?+bx+c

(©) [vax® +bx +cdxa,

Working Role

(@) Make the coefficient of x? unity by taking the
coefficient of x? outside the quadratic.

(ii) Complete the square in the terms involving x, i.e.

write ax* + bx + ¢ in the form
bV (b2 —4ac)
all| x+—| |-——.
[ 2a] 4a

(iii) The integrand is converted to one of the nine special
integrals.

(iv) Integrate the function.

2.1.4 Integrals of the Form

J' pPX+q dx
ax> +bx+c

(©) I(px+q)\]ax2 +bx+c dx

Integral Working Rule

px+q
b) | ——dx
( )'[\/ax2+bx+c

[—prra g

+q= +b)+ +q=
o tbxto Putpx+q=A(ax+b)+porpx+q=»

(derivative of quadratic) + p.

Comparing the coefficient of x and constant term on both
sides, we get

p=2alandq=bA+pu = A= ~—andp= [q—@).Then
2a 2a

integral becomes

I px+q D .S
ax? +bx+c
2 b b dx
=—jf"—+dx+[ pjjz_
2a7 ax’ +bx+c 2a /7 ax” +bx+c
bp dx
=—Ilog|ax’ +bx+c|+| q—— || ——
2a gl | (q ZaJIax2+bx+C

X+
Ilz—q dx In this case the integral becomes
vax® +bx+c¢




INDEFINITE INTEGRATION |

I pxX+q dx =

Jax? +bx+c

2ax+b

bp] dx
2a J-«,lax +bx+c ( J.x/‘axz +bx+c¢

P _b_p dx
Ca = +bX+C+(q 23JI\/ax2+bx+c

J.(px +q)vax® +bx+c dx

The integral in this case is converted to

J-(PX‘FQ)\/aXZ +bx+c dx=2£J.(2ax+b)\/ax2 +bx+c dx
a

+(q—3—pjj\/ax2 +bx+c dx
a

=3—(ax +bx+¢) % + [

—?)J‘\/axl +bx+c¢ dx
a

2.1.5 Integrals of the Form

J' P(x)
Jax? +bx +¢

degree n > 2.

dx, where P(x)is a polynomial in x of

Working Rule: Write

j&dx:
Jax? +bx+c¢

2 n-1 dx
=(a,+ax+ax" +...+a,,x"") «jax2+bx+c+kj—
vax® +bx+c

where k, a, a, ... a _, are constants to be determined by
differentiating the above relation and equating the

coefficients of various powers of x on both sides.

2.1.6 Integrals of the Form

j x“+1 dx j Xz—l
<k +1 o ik +1

dx,

where k is a constant positive, negative or zero.
Working Rule

(i) Divide the numerator and denominator by x

1 1
(i) Putx——=2z orX+—=2, whichever subsitution, on
X X

differentiation gives, the numerator of the resulting

integrand.
(iii) Evaluate the resulting integral in z

(iv) Express the result in terms of x.

2.1.7 Integrals of the Form

dx
——=,where P, Q are linear or quadratic functions of x.
e

Integral Substitution

j; dx cx+d=2
(ax +b)vex +d

J = px+q=2
(ax” +bx +c)y/px +q

[ 1ot
(px +q)Vax® +bx +c pxTq=7

T o
(ax® +bex? +d Tz
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3. METHOD OF PARTIAL FRACTIONS

FOR RATIONAL FUNCTIONS

Integrals of the type I% can be integrated by resolving
g(x

the integrand into partial fractions. We proceed as follows:
Check degree of p (x) and g (x).
If degree of p (x) > degree of g (x), then divide p (x) by g

(x) till its degree 1is less, i.e. put in the

formix) =r(x)+ S where degree of f(x) < degree of
g(x) g(x)

g ().

CASE 1: When the denominator contains non-repeated

linear factors. That is

gX=E-a)Ex-a)..x-a).

In such a case write f (x) and g (x) as:

n

x-a,)

JO__A L A A
gx) (x-oy) (x-0;)

where A, A, ... A are constants to be determined by
comparing the coefficients of various powers of x on both
sides after taking L.C.M.

CASE 2 : When the denominator contains repeated as well

as non-repeated linear factor. That is
g@=x-0)yx-o)..(x-a).
In such a case write f (x) and g (x) as:

FO_ A A A A
(x-a,)

gx) x-o, (x-o)° x-o,

where A, A,, ... A are constants to determined by
comparing the coefficients of various powers of x on both
sides after taking L.C.M.

Note : Corresponding to repeated linear factor (x — a)" in

the denominator, a sum of r partial

1 A, .
(x—a)*

T

— is taken.
(x—a)

A
fractions of the type
X—a

CASE 3 : When the denominator contains a non repeated

quadratic factor which cannot be factorised further:
g =(@+bx+tc)(x—oa)(x-a,)..x—-a).
In such a case express f (x) and g (x) as:

fx)  Ax+A, A, - A
g(x) ax’*+bx+c x-a,

n

X—a,

where A, A, ... A are constants to be determined by
comparing the coefficients of various powers of x on both
sides after taking L.C.M.

CASE 4 :
quadratic factor which cannot be factorised further: That

When the denominator contains a repeated

is
g =(@+bx+c)(x-o)(x—0)..(x—a)
In such a case write f(x) and g (x) as

f(x): AxX+A, Ax+A,
g(x) ax’+bx+c (ax®+bx+c)’

AS +o+ An

(x-a,)

X —0;

where A, A,, ... A, are constants to be determined by
comparing the coefficients of various powers of x on both
sides after taking L.C.M.

CASE 5 : If the integrand contains only even powers of x
(i) Put x* =z in the integrand.

(ii) Resolve the resulting rational expression in z into
partial fractions

(iii) Put z = x? again in the partial fractions and then

integrate both sides.

4. METHOD OF INTEGRATION BY PARTS

The process of integration of the product of two functions is
known as integration by parts.

For example, if # and v are two functions of x,
then [ (uv) dx = wfvdx— | ﬂ.jvdx dx.
dx

In words, integral of the product of two functions = first
function x integral of the second — integral of (differential
of first x integral of the second function).
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‘Working Hints

(i) Choose the first and second function in such a way that
derivative of the first function and the integral ofthe second
function can be easily found.

(ii) In case of integrals of the forrnJ. f(x).x" dx, take x" as

the first function and f (x) as the second function.

(iii) In case of integrals of the form [(logx)" -1dx, take 1as

the second function and (log x)" as the first function.
(iv) Rule of integration by parts may be used repeatedly, if
required.

(v) If the two functions are of different type, we can choose
the first function as the one whose initial comes first in the
word “ILATE”, where

I — Inverse Trigonometric function
L — Logarithmic function

A — Algebraic function

T — Trigonometric function

E — Exponential function.
(vi) In case, both the functions are trigonometric, take that
function as second function whose integral is simple. If
both the functions are algebraic, take that function as first

function whose derivative is simpler.

(vii) Ifthe integral consists of an inverse trigonometric function
of an algebraic expression in x, first simplify the integrand
by a suitable trigonometric substitution and then integrate
the new integrand.

4.1 Integrals of the Form

Ie" [f(x)+f(x)] dx

Working Rule

@) Split the integral into two integrals.
(ii) Integrate only the first integral by parts, i.e.

J.ex[f(x)+f’(x)} x:je"f(x) x+J.e"f'(x)dx

= [f(x).e" —If’(x).e" x] +Ie"f’(x) dx

=e" f(x)+C.

4.2 Integrals of the Form:

Where the initial integrand reappears after integrating by
parts.

Working Rule
(i)  Apply the method of integration by parts twice.

(ii) On integrating by parts second time, we will obtain
the given integrand again, put it equal to I.
(iii) Transpose and collect terms involving I on one side

and evaluate L.

INTEGRAL OF THE FORM

(TRIGONOMETRIC FORMATS)

dx
a+bcosx

5.1 () | ®] a+b sinx

dx
c
© J.a+b cOSX +csinx

Working Rule

l—tan25 2tan§
@ Putcosx = 2 adsinx= 50 that the given
l+tan? > l+tan® =
2 2

X
integrand becomes a function of tan 5

p. 1
(i) Put tanE: zZ=> Esec2 %dx =dz

(iii) Integrate the resulting rational algebraic function of z

X
(iv) In the answer, put z = tanE ;

5.2 Integrals of the Form

dx

a+bsin’x

@] )]

a+bcos’x

dx

acos’ x + bsinx cosx + csin? x

© ]
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Working Rule

(i) Divide the numerator and denominator by cos?x.
(i)
(iii)
(iv)
)
53

In the denominator, replace sec?x, if any, by 1 + tan’x.
Put tan x = z = sec’x dx = dz.
Integrate the resulting rational algebraic function of z,

In the answer, put z = tan x.

Integrals of the Form

Iacosx+bsinx
ccosx +dsinx

Working Role

(i) Put Numerator = A (denominator) + p (derivative of

denominator)

acosx +bsinx=A(ccosx+dsinx)+ p(—csin x +d cos x).
(ii) Equate coefficients of sin x and cos x on both sides and
find the values of A and p.
(iii) Split the given integral into two integrals and evaluate each
integral separately, i.e.

acosx +bsinx
jasosxsbsing
ccosx +dsinx

—csinx +dcosx

Kjldx+uj dx =Ax+plog|acosx+bsinx|.

acosx +bsinx
(iv)
5.4 Integrals of the Form

Substitute the values of A and p found in step 2.

a+bcosx+csinx
| dx

e+fcosx+gsinx

Working Rule
(i) Put Numerator =/ (denominator) + m
(derivative of denominator) + n

a+tbcosx+csinx=/(e+fcosx+gsinx)+m
(—fsinx+gcosx)+n

(ii) Equate coefficients of sin x, cos x and constant term on both
sides and find the values of /, m, n.
(iii) Split the given integral into three integrals and evaluate

each integral separately, i.e.

dx

Ia+bcosx+csinx
e+fcosx+gsinx

@iv)

—fsinx+gcosx
£ dx +

[ |1dx +
J m | e+fcosx+gsinx

dx
n J' :
e+fcosx+gsinx

:lx+m10g|e+fcosx+gsinx|+n’|‘L dx

e+fcosx+gsinx

Substitute the values of /, m, n found in Step (ii).

5.5 Integrals of the Form

jsin"El xcos” x dx

Working Rule

6]
(i)
(iii)

(iv)

™)

If the power of sin x is an odd positive integer, put cos x =t.
If the power of cos x is an odd positive integer, put sin x =t.

If the power of sin x and cos x are both odd positive integers,
putsinx =torcosx =t.

If the power of sin x and cos x are both even positive
integers, use De” Moivre’s theorem as follows:

Let, cosx+isinx =z Thencosx—isinx=2z"

. 1 1 ...
Adding these, we get z+—=2cosxandz——=2isinx
z z

By De’Moivre’s theorem, we have

z" +in=2cosnxandz“ —Ln: 2isin" x ...(1)
Z Z

e (1)

—lz+—| | z——

Q) 2z z
e (03) (3]
= —| Z+— Z—— .
2m+n im z z

Now expand each of the factors on the R.H.S. using
Binomial theorm. Then group the terms equidistant from
the beginning and the end. Thus express all such pairs as
the sines or cosines of multiple angles. Further integrate
term by term.

sin® xcos" x =

If the sum of powers of sin x and cos x is an even negative
integer, put tan x = z.
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SOLVED EXAMPLES

Evaluate : J.(x +5%2 _4+7+i]

X X

Sol. I(x +5x%2 —4+Z+7_—]
7
=J'x3 dx+‘[5x2 dx—.[4dx+_[ ;dx.,..l'_
=[x dx+5. [x2dx-4. [Ldx+ 7'[&‘1’”2-]‘ 2y

4 3

1/2
=X 15X ax+7log x| 2| 2= |+C
4 73 1/2

4
:%+§X3-4x+710g|x|+4\/;+c

Evaluate : J. xloga | calogx | caloga 4o

Sol. We have,

J‘ xloga | aalogx , ,aloga dx

— J‘eloga" +eiogx‘* +eloga" dx
= .[(a" +x*+a%) dx

= _[a" dx + Ix" dx + _[aa dx

x a+l

a

+a*.x+C.

B loga a+l

4

Evaluate : J. —f dx
x°+1

Sol IX4 dx
PGS
. IX —1+1 J'X -1 + 1 g
x2+1 X+l w2+l X
X
= — —x+tan'x+C
3
28 4+3*
Evaluate : I — dx
2* +3°
Sol.
a [22

(ZJ‘ (SJ @Q/5" (/5
ITNES IEN N ICTE SCTE
5 5 log,2/5  log,3/5

Evaluate : jx3sin *dx
Sol. We have

I= Ix3 sin 4 dx
Letx*=t = d(x*) = dt
1

= 4 dx=dt=> dx = —= dt




